#hkie XIR SH2EE

HKEHAHR B FE(H1Z) R2.4.9 R2.5.13 R2.6.10 R2.7.8 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3 =IE FE
HKEFFZ 10:42 10:25 10:02 9:55 9:45 10:00 9:55 9:48 10:00 10:02 10:00 10:05 12
X |4AXE 5 £ 5 53] 5 5 £ £ £ £ £ 5 12
4 |ATEXE & & & 5] & & & & & & I £ 12
SR °Cc 11.3 21.1 26.3 19.7 30.6 28.4 17.4 9.4 5.5 1.8 2.6 3.3 30.6 1.8 14.8 12
KiE °c 10.5 16.4 21.9 21.2 25.5 26.7 20.8 14.8 11.8 5.8 5.6 6.8 26.7 5.6 15.7 12
— iR {&/mL 100 LI'F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
KBE T £3ed £3ed Rex £3ed £3e8 (=Y £3ed £3ed (=Y £3ed =Y fe 0/12 12
AREHLRUZDIEEY me/L 0.003 < 0.0003 <0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 4
KERVZDILEY me/L 0.0005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 4
LU RUZDIEEY me/L 0.01 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
MRUZDIEEY me/L 0.01 < 0.001 0.001 < 0.001 < 0.001 0.001 < 0.001 < 0.001 4
ERXRRUZDIEES me/L 0.01 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
ANAYOLIEEY me/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
HIHMERESR me/L 0.04 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 12
STAEAA BRI TY mg/L 0.01 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
X HEEEERRUEHBEER me/L 10 1.24 1.28 1.26 1.22 2.89 1.48 0.79 0.97 1.12 1.25 1.46 1.35 2.89 0.79 1.36 12
IVvRRUVZDILEY me/L 0.8 0.17 0.19 0.19 0.20 0.19 0.20 0.21 0.19 0.19 0.18 0.17 0.17 0.21 0.17 0.19 12
e |TIRRUZDIEEY me/L 1 0.05 0.04 0.04 0.05 0.05 0.04 0.05 4
B |migftpm= me/L 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
1.4-OF %52 me/L 0.05 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
£ |VARUMNYA-12-2H00TFLY me/L 0.04 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
DYI=I=EL D me/L 0.02 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 4
# |TFrSHYO0IFLY me/L 0.01 <0.0002 0.0003 0.0004 0.0002 0.0004 <0.0002 0.0002 4
==k 10 me/L 0.01 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
B\ |[Rvtr me/L 0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 4
ERE me/L 0.6 <0.06 <0.06 <0.06 0.07 <0.06 0.07 <0.06 0.06 <0.06 <0.06 <0.06 <0.06 0.07 <0.06 <0.06 12
~00EES me/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
B |yoofLi me/L 0.06 0.005 0.009 0.004 0.002 0.009 0.002 0.005 4
SHOOERE me/L 0.03 0.005 0.007 0.002 < 0.002 0.007 < 0.002 0.004 4
CJ0E/OOAIY me/L 0.1 0.003 0.003 0.002 0.002 0.003 0.002 0.003 4
Rk mg/L 0.01 < 0.001 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
R N\OAZD me/L 0.1 0.013 0.018 0.009 0.007 0.018 0.007 0.012 4
[ P=1=]:77; me/L 0.03 0.004 0.004 < 0.002 < 0.002 0.004 < 0.002 0.002 4
PA=E=D2I=I=P TV me/L 0.03 0.005 0.006 0.003 0.003 0.006 0.003 0.004 4
v |[ZBERILL me/L 0.09 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
RILLTILTER me/L 0.08 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 4
BIRRUVZDILEY me/L 1 0.009 0.025 0.006 < 0.005 0.025 < 0.005 0.010 4
51 | F L= LRUZDIEEY me/L 0.2 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 4
HRUZTDILEY me/L 0.3 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 4
B |[fARUVZEDIEEN me/L 1 0.03 0.07 0.02 <0.01 0.07 <0.01 0.03 4
FRIDLRUVZDIEEY meg/L 200 11 12 10 10 12 10 11 4
B [RUACRUZDIEEY me/L 0.05 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 4
B4 me/L 200 12 11 12 11 17 12 8.9 9.5 9.8 11 12 12 17 8.9 11 12
A |y L3y 2y L5 (BEE) me/L 300 63 82 72 70 82 63 72 4
REREY me/L 500 128 161 122 126 161 122 134 4
A4 REmEHES me/L 0.2 <0.02 <0.02 1
CIARIV me/L 0.00001 <0.000001 <0.000001 1
2-AFIAYRIL A F—IL me/L 0.00001 < 0.000001 <0.000001 1
A7+ REmiEER me/L 0.02 < 0.005 < 0.005 1
Jz/—I)LE me/L 0.005 < 0.0005 < 0.0005 1
HHM(2H xR (TOC)DE) me/L 3 0.4 0.4 0.3 0.4 0.5 0.5 0.4 0.5 0.3 0.3 0.3 0.3 0.5 0.3 0.4 12
pH{E 5801 F86LLT 7.1 7.1 7.0 7.0 6.9 7.0 7.0 7.0 7.1 7.0 7.1 7.2 7.2 6.9 7.0 12
[ BEETHWL L L L L L L L L L L FHETL Liv v 0/12 12
5 EETHWL L 23 L L 23 L L 23 L L L 23 L L 23 L 23 L 0/12 12
BE E 5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 12
EE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12
TUOFEY me/L 0.02 <0.001 <0.001 1
o me/L 0.002 <0.0002 <0.0002 1
% me/L 0.02 < 0.001 < 0.001 1
K [12-2ymnzhy me/L 0.004 <0.0002 <0.0002 1
= LIV me/L 0.4 <0.0005 <0.0005 1
= |ZRIBEOIFILATIIL me/L 0.08 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
g |[os/noo7e=RJL me/L 0.01 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
# [#@xo05—1 me/L 0.02 0.005 <0.002 0.005 <0.002 0.003 2
B |[2XEE me/L 1
B |RBER me/L 01k 0.8 0.9 0.8 0.6 0.6 0.8 0.6 0.8 0.8 0.8 0.9 0.8 0.9 0.6 0.8 12
= |MERE R ER me/L 20 9.7 10.6 8.6 7.5 10.6 7.5 9.1 4
= [1Lii-byyooTiy me/L 0.3 <0.0002 <0.0002 1
B/ |AFIt-TFILI—T)L(MTBE) me/L 0.02 <0.002 <0.002 1
g R &5EE (TON) 3 <1 <1 <1 <1 <1 2
SU) TR -1~0f2 & -1.6 -1.2 -1.5 -1.5 -1.2 -1.6 -1.4 4
HEXEMAE {B/mL 2000 4 2 3 1 4 1 3 4
1,1-o900TFL> me/L 0.1 <0.0002 <0.0002 1
%Z%EM(PFOS&UPFOA) me/L 0.00005 0.000003 0.000003 1
BRIGE: mS/m 17.0 15.7 16.7 15.2 22.1 20.2 16.9 17.8 17.1 17.1 16.6 17.6 22.1 15.2 17.5 12
z |[ZILHIE me/L 43.2 62.9 53.4 48.1 62.9 43.2 51.9 4
O | BIMRIESE260nm Abs/cm 0.007 0.008 0.006 0.007 0.009 0.010 0.007 0.008 0.006 0.006 0.005 0.005 0.010 0.005 0.007 12
it |BREEAA me/L 20.7 20.1 18.6 17.1 25.7 20.7 17.4 19.6 19.0 19.4 20.4 21.3 25.7 17.1 20.0 12
o HERREE me/L 1.24 1.28 1.26 1.22 2.89 1.48 0.79 0.97 1.12 1.25 1.46 1.35 2.89 0.79 1.36 12
5 Ho L me/L 2.4 2.9 2.6 2.2 2.9 2.2 2.5 4
AT LIEE mg/L 45 58 52 51 58 45 52 4
B | me/L 11.0 12.1 9.8 8.5 12.1 8.5 10.4 4
BB b e f mg/L 8.9 9.3 7.7 6.7 9.3 6.7 8.1 4
XEHITVRIEEWIE/ 178K




Hkie fEE SHI2ERE
HKEHAHR B FE(H1Z) R2.4.9 R2.5.13 R2.6.10 R2.7.8 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3 =IE FE
HKEFFZ 8:59 9:00 11:22 10:35 10:40 10:20 10:50 10:45 10:50 11:14 11:05 11:15 12
X |4AXE & 2 & i 5 5 £ £ £ £ £ 5 12
4 |ATEXE & i 5 FH I 5 2 & & & & £ 12
SR °Cc 7.9 20.0 27.3 22.5 31.4 27.5 18.2 10.3 7.7 2.0 4.2 1.8 31.4 1.8 15.1 12
KiE °c 11.3 16.1 19.6 20.3 22.9 24.3 18.7 14.3 11.6 7.3 6.5 7.4 24.3 6.5 15.0 12
— iR {&/mL 100 LI'F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
KBE T £3ed £3ed £3e8 £3ed £3e8 £3ed £3ed £3ed £3ed £3ed =Y ik 0/12 12
AREHLRUZDIEEY me/L 0.003 < 0.0003 < 0.0003 1
KERVZDILEY me/L 0.0005 < 0.00005 < 0.00005 1
LU RUZDIEEY me/L 0.01 0.001 0.001 1
MRUZDIEEY mg/L 0.01 < 0.001 < 0.001 1
ERXRRUZDIEES me/L 0.01 0.004 0.003 0.003 0.003 0.004 0.003 0.003 4
NEZOLIEEY mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
HIHMERESR me/L 0.04 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 12
STAEAA BRI TY mg/L 0.01 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
X HEEEERRUEHBEER me/L 10 1.50 1.44 1.34 1.41 1.70 1.44 1.34 1.31 1.28 1.26 1.28 1.29 1.70 1.26 1.38 12
IVvRRUVZDILEY me/L 0.8 0.14 0.14 0.15 0.14 0.15 0.10 0.12 0.12 0.13 0.12 0.10 0.12 0.15 0.10 0.13 12
e |TIRRUZDIEEY me/L 1 0.04 0.04 1
B |migftpm= mg/L 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
1.4-OF %52 me/L 0.05 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 <0.001 4
£ |VARUMNYA-12-2H00TFLY mg/L 0.04 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
DYI=I=EL D me/L 0.02 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 4
# |TFrSHYO0IFLY mg/L 0.01 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
==k 10 me/L 0.01 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
B\ |[Rvtr mg/L 0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 4
ERE me/L 0.6 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 12
~00EES mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
B |yoofLi me/L 0.06 0.001 0.002 < 0.001 < 0.001 0.002 < 0.001 <0.001 4
SHOOFEE mg/L 0.03 < 0.002 0.002 < 0.002 < 0.002 0.002 < 0.002 < 0.002 4
CJ0E/OOAIY me/L 0.1 0.001 0.002 0.001 0.001 0.002 0.001 0.001 4
Rk mg/L 0.01 < 0.001 < 0.001 1
R N\OAZD me/L 0.1 0.003 0.006 0.002 0.002 0.006 0.002 0.003 4
[ P=1=]:77; me/L 0.03 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
PA=E=D2I=I=P TV me/L 0.03 0.001 0.002 0.001 0.001 0.002 0.001 0.001 4
v |[ZBERILL mg/L 0.09 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
RILLTILTER me/L 0.08 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 <0.008 4
BIRRUVZDILEY me/L 1 < 0.005 < 0.005 1
51 | F L= LRUZDIEEY me/L 0.2 <0.02 <0.02 1
HRUZTDILEY me/L 0.3 <0.03 <0.03 1
B |[fARUVZEDIEEN me/L 1 <0.01 <0.01 1
FRIDLRUVZDIEEY me/L 200 24 23 22 25 25 22 24 4
B [RUACRUZDIEEY me/L 0.05 < 0.005 < 0.005 1
B4 me/L 200 38 16 11 21 11 8.0 9.3 10 8.4 11 23 25 38 8.0 16 12
A |y L3y 2y L5 (BEE) me/L 300 178 190 179 177 190 177 181 4
REREY me/L 500 356 391 333 350 391 333 358 4
A4 REmEHES me/L 0.2 <0.02 <0.02 1
CIARIV me/L 0.00001 <0.000001 <0.000001 1
2-AFIAYRIL A F—IL me/L 0.00001 < 0.000001 <0.000001 1
A7+ REmiEER me/L 0.02 < 0.005 < 0.005 1
Jx/—ILEE me/L 0.005 < 0.0005 < 0.0005 1
HHM(2H xR (TOC)DE) me/L 3 0.6 0.4 0.3 0.6 0.5 0.4 0.3 0.4 0.3 0.3 0.3 0.3 0.6 0.3 0.4 12
pH{E 5801 F86LLT 7.7 8.0 7.9 7.8 7.8 7.8 7.6 7.7 7.8 7.8 7.8 7.9 8.0 7.6 7.8 12
[ BEETHWL L L L L L L L L L L FHETL Liv v 0/12 12
5 EETHWL L 23 L L 23 L L 23 L L L 23 L L 23 L 23 L 0/12 12
BE E 5 <0.5 <0.5 <0.5 0.8 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 0.8 <0.5 <0.5 12
EE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12
TUOFEY me/L 0.02 <0.001 <0.001 1
oY me/L 0.002 0.0002 0.0002 1
% mg/L 0.02 < 0.001 < 0.001 1
K [12-2ymnzhy me/L 0.004 <0.0002 <0.0002 1
= LIV mg/L 0.4 <0.0005 <0.0005 1
- |[ZRVEBOIFILAZIIL me/L 0.08 < 0.001 < 0.001 < 0.001 < 0.001 <0.001 2
g |[os/noo7e=RJL me/L 0.01 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
# [#@xo05—1 me/L 0.02 <0.002 <0.002 <0.002 <0.002 <0.002 2
B |2%sE meg/L 1
2 |EREESR me/L 01k 0.3 0.6 0.6 0.6 0.8 0.8 0.8 0.6 0.7 0.8 0.6 0.8 0.8 0.3 0.7 12
= |MERE R ER me/L 20 5.1 3.8 4.5 4.0 5.1 3.8 4.4 4
= [1Lii-byyooTiy me/L 0.3 <0.0002 <0.0002 1
B/ |AFIt-TFILI—T)L(MTBE) me/L 0.02 <0.002 <0.002 1
g R &5EE (TON) 3 <1 <1 <1 <1 <1 2
SU) TR -1~0f2 & -0.2 -0.1 -0.3 -0.3 -0.1 -0.3 -0.2 4
HEXEMAE {B/mL 2000 17 70 10 56 70 10 38 4
1,1-o900TFL> me/L 0.1 <0.0002 <0.0002 1
%Z%EM(PFOS&UPFOA) me/L 0.00005
BRIGE: mS/m 48.6 45.2 44.0 45.8 44.9 43.7 43.9 43.2 41.3 42.8 45.5 45.2 48.6 41.3 44.5 12
z |[ZILHIE me/L 66.4 74.0 72.9 67.4 74.0 66.4 70.2 4
O | BIMRIESE260nm Abs/cm 0.011 0.009 0.006 0.014 0.009 0.007 0.006 0.007 0.005 0.006 0.004 0.005 0.014 0.004 0.007 12
it |BREEAA me/L 122 137 129 125 131 125 130 140 130 126 134 124 140 122 129 12
o HERREE me/L 1.50 1.44 1.34 1.41 1.70 1.44 1.34 1.31 1.28 1.26 1.28 1.29 1.70 1.26 1.38 12
5 Ho L me/L 4.0 3.9 4.2 4.0 4.2 3.9 4.0 4
AT LIEE me/L 119 129 120 120 129 119 122 4
B | me/L 5.8 4.3 5.1 4.6 5.8 4.3 5.0 4
BB b e f mg/L 4.0 2.6 3.3 3.0 4.0 2.6 3.2 4




ke 1A FH2EE

HKEHAHR B FE(H1Z) R2.4.9 R2.5.13 R2.6.10 R2.7.8 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3 =IE FE
HKEFFZ 9:18 9:15 8:34 8:55 8:15 8:45 8:35 8:33 8:35 8:40 8:46 8:35 12
X |4AXE & 2 & 53] 5 5 £ £ £ E £ 5 12
4 |ATEXE & i 5 FH & & & 2 i 2 i £ 12
SR °Cc 7.7 16.3 21.3 19.5 24.3 22.5 13.9 6.1 3.7 -1.0 -1.2 -1.8 24.3 -1.8 10.9 12
KiE °c 10.0 13.5 15.6 16.5 19.6 21.1 16.7 13.0 10.5 4.9 4.8 8.7 21.1 4.8 12.9 12
— iR {&/mL 100 LI'F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
KBE T £3ed £3ed Rex £3ed £3e8 £3ed £3ed £3ed £3ed £3ed =Y ik 0/12 12
AREHLRUZDIEEY me/L 0.003 < 0.0003 < 0.0003 1
KERVZDILEY me/L 0.0005 < 0.00005 < 0.00005 1
LU RUZDIEEY me/L 0.01 <0.001 < 0.001 1
MRUZDIEEY mg/L 0.01 < 0.001 < 0.001 1
ERXRRUZDIEES me/L 0.01 0.002 0.002 1
NEZOLIEEY mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
HIHMERESR me/L 0.04 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 12
STAEAA BRI TY mg/L 0.01 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
X HEEEERRUEHBEER me/L 10 1.97 1.27 0.98 2.84 2.09 1.29 1.45 1.52 1.10 0.94 1.52 1.51 2.84 0.94 1.54 12
IVvRRUVZDILEY me/L 0.8 0.05 0.07 0.07 0.06 0.12 0.05 0.06 0.06 0.07 0.06 < 0.05 < 0.05 0.12 < 0.05 0.06 12
e |TIRRUZDIEEY me/L 1 0.03 0.03 1
B |migftpm= mg/L 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
1.4-OF %52 me/L 0.05 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
£ |VARUMNYA-12-2H00TFLY mg/L 0.04 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
DYI=I=EL D me/L 0.02 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 4
# |TFrSHYO0IFLY mg/L 0.01 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
==k 10 me/L 0.01 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
B\ |[Rvtr mg/L 0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 4
ERE me/L 0.6 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 12
~00EES mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
B |yoofLi me/L 0.06 0.001 0.002 0.001 < 0.001 0.002 < 0.001 0.001 4
SHOOFEE mg/L 0.03 < 0.002 0.003 < 0.002 < 0.002 0.003 < 0.002 < 0.002 4
CJ0E/OOAIY me/L 0.1 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
Rk mg/L 0.01 < 0.001 < 0.001 1
R N\OAZD me/L 0.1 0.001 0.003 0.001 < 0.001 0.003 < 0.001 0.001 4
[ P=1=]:77; me/L 0.03 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
PA=E=D2I=I=P TV me/L 0.03 < 0.001 0.001 < 0.001 < 0.001 0.001 < 0.001 < 0.001 4
v |[ZBERILL me/L 0.09 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
RILLTILTER me/L 0.08 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 4
BIRRUVZDILEY me/L 1 < 0.005 < 0.005 1
51 | F L= LRUZDIEEY me/L 0.2 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 4
HRUZTDILEY me/L 0.3 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 4
B |[fARUVZEDIEEN me/L 1 <0.01 <0.01 1
FRIDLRUVZDIEEY mg/L 200 18 16 17 17 18 16 17 4
B [RUACRUZDIEEY me/L 0.05 < 0.005 < 0.005 1
BiEMAA> mg/L 200 4.1 3.1 3.0 4.1 3.2 3.1 3.2 3.3 3.2 3.2 3.4 3.4 4.1 3.0 3.4 12
A |y L3y 2y L5 (BEE) me/L 300 63 64 63 62 64 62 63 4
REREY me/L 500 146 163 148 132 163 132 147 4
A4 REmEHES me/L 0.2 <0.02 <0.02 1
CIARIV me/L 0.00001 <0.000001 <0.000001 1
2-AFIAYRIL A F—IL me/L 0.00001 < 0.000001 <0.000001 1
A7+ REmiEER me/L 0.02 < 0.005 < 0.005 1
Jx/—ILEE me/L 0.005 < 0.0005 < 0.0005 1
HHM(2H xR (TOC)DE) me/L 3 0.3 0.2 0.2 0.3 0.3 0.3 0.2 0.3 0.2 0.2 0.2 0.2 0.3 0.2 0.2 12
pH{E 5801 F86LLT 8.0 8.0 7.9 7.9 7.8 7.9 7.9 8.0 8.0 8.0 7.9 8.0 8.0 7.8 7.9 12
[ BEETHWL L L L L L L L L L L FHETL Liv v 0/12 12
5 EETHWL L 23 L L 23 L L 23 L L L 23 L L 23 L 23 L 0/12 12
BE E 5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 12
EE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12
TUOFEY me/L 0.02 <0.001 <0.001 1
oY me/L 0.002 <0.0002 <0.0002 1
% mg/L 0.02 < 0.001 < 0.001 1
K [12-2ymnzhy me/L 0.004 <0.0002 <0.0002 1
= LIV mg/L 0.4 <0.0005 <0.0005 1
- |[ZRVEBOIFILAZIIL me/L 0.08 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
g |[os/noo7e=RJL me/L 0.01 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
# [#@xo05—1 me/L 0.02 <0.002 <0.002 <0.002 <0.002 <0.002 2
B |[2XEE me/L 1
2 |EREESR me/L 01k 0.8 0.9 0.9 0.9 0.9 0.9 0.8 0.8 0.8 0.9 0.8 0.9 0.9 0.8 0.9 12
= |MERE R ER me/L 20 2.6 2.9 3.2 2.6 3.2 2.6 2.8 4
= [1Lii-byyooTiy me/L 0.3 <0.0002 <0.0002 1
B/ |AFIt-TFILI—T)L(MTBE) me/L 0.02 <0.002 <0.002 1
g R &5EE (TON) 3 <1 <1 <1 <1 <1 2
SU) TR -1~0f2 & -0.5 -0.4 -0.5 -0.5 -0.4 -0.5 -0.5 4
HEXEMAE {B/mL 2000 0 0 4 0 4 0 1 4
1,1-o900TFL> me/L 0.1 <0.0002 <0.0002 1
%Z%EM(PFOS&UPFOA) me/L 0.00005
BRIGE: mS/m 18.6 17.0 18.4 17.8 17.5 18.0 18.1 18.3 18.2 18.4 18.0 18.3 18.6 17.0 18.1 12
z |[ZILHIE me/L 65.4 67.1 65.4 65.5 67.1 65.4 65.9 4
O | BIMRIESE260nm Abs/cm 0.005 0.006 0.005 0.006 0.004 0.005 0.004 0.004 0.005 0.004 0.001 0.002 0.006 0.001 0.004 12
it |BREEAA me/L 24.9 23.5 22.7 24.7 19.1 21.7 23.5 24.0 26.0 26.0 25.4 24.9 26.0 19.1 23.9 12
o HERREE me/L 1.97 1.27 0.98 2.84 2.09 1.29 1.45 1.52 1.10 0.94 1.52 1.51 2.84 0.94 1.54 12
5 Ho L me/L 0.6 0.6 0.7 0.6 0.7 0.6 0.6 4
AT LIEE mg/L 51 52 51 50 52 50 51 4
B | me/L 3.0 3.3 3.6 2.9 3.6 2.9 3.2 4
BB b e f mg/L 1.7 1.9 2.2 1.6 2.2 1.6 1.9 4




ke Mg SH2EE

HKEHAHR B FE(H1Z) R2.4.9 R2.5.13 R2.6.10 R2.7.15 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3 =IE FE
HKEFFZ 9:38 9:28 8:50 8:35 8:30 8:55 8:50 8:46 8:45 8:55 9:01 8:55 12
X |4AXE & 2 & £ 5 5 £ £ £ E £ 5 12
4 |ATEXE & i 5 FH & & & 2 i 2 i £ 12
SR °Cc 8.9 20.0 22.6 20.3 27.2 23.4 13.8 7.4 4.4 -0.4 0.1 -0.1 27.2 -0.4 12.3 12
KiE °c 9.3 13.9 18.1 19.6 21.2 23.8 19.7 14.2 11.2 7.5 6.0 6.9 23.8 6.0 14.3 12
— iR {&/mL 100 LI'F 0 0 0 2 0 0 0 0 0 0 0 0 2 0 0 12
KBE T £3ed £3ed Rex £3ed £3e8 £3ed £3ed £3ed £3ed £3ed =Y ik 0/12 12
AREHLRUZDIEEY me/L 0.003 < 0.0003 < 0.0003 1
KERVZDILEY me/L 0.0005 < 0.00005 < 0.00005 1
LU RUZDIEEY me/L 0.01 <0.001 < 0.001 1
MRUZDIEEY mg/L 0.01 < 0.001 < 0.001 1
ERXRRUZDIEES me/L 0.01 0.003 0.003 0.003 0.003 0.003 0.003 0.003 4
NEZOLIEEY mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
HIHMERESR me/L 0.04 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 12
STAEAA BRI TY mg/L 0.01 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
X HEEEERRUEHBEER me/L 10 0.10 0.05 <0.02 0.33 <0.02 <0.02 0.02 <0.02 0.02 <0.02 0.03 0.02 0.33 <0.02 0.05 12
IVvRRUVZDILEY me/L 0.8 0.05 0.05 0.06 0.08 0.07 0.06 0.06 0.06 0.06 0.05 < 0.05 < 0.05 0.08 < 0.05 0.05 12
e |TIRRUZDIEEY me/L 1 <0.02 <0.02 1
B |migftpm= mg/L 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
1.4-OF %52 me/L 0.05 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
£ |VARUMNYA-12-2H00TFLY mg/L 0.04 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
DYI=I=EL D me/L 0.02 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 4
# |TFrSHYO0IFLY mg/L 0.01 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
==k 10 me/L 0.01 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
B\ |[Rvtr mg/L 0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 4
ERE me/L 0.6 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 12
~00EES mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
B |yoofLi me/L 0.06 < 0.001 0.001 < 0.001 < 0.001 0.001 < 0.001 < 0.001 4
SHOOFEE mg/L 0.03 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
CJ0E/OOAIY me/L 0.1 0.001 0.002 < 0.001 < 0.001 0.002 < 0.001 < 0.001 4
Rk mg/L 0.01 < 0.001 < 0.001 1
R N\OAZD me/L 0.1 0.001 0.005 < 0.001 < 0.001 0.005 < 0.001 0.002 4
[ P=1=]:77; me/L 0.03 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
PA=E=D2I=I=P TV me/L 0.03 < 0.001 0.002 < 0.001 < 0.001 0.002 < 0.001 < 0.001 4
v |[ZBERILL me/L 0.09 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
RILLTILTER me/L 0.08 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 4
BIRRUVZDILEY me/L 1 < 0.005 < 0.005 1
51 | F L= LRUZDIEEY me/L 0.2 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 4
HRUZTDILEY me/L 0.3 <0.03 <0.03 1
B |[fARUVZEDIEEN me/L 1 <0.01 <0.01 1
FRIDLRUVZDIEEY mg/L 200 10 11 10 9.4 11 9.4 10 4
B [RUACRUZDIEEY me/L 0.05 < 0.005 < 0.005 1
B4 me/L 200 2.5 1.9 1.9 4.0 1.8 1.7 1.8 1.8 1.8 1.7 1.8 1.8 4.0 1.7 2.0 12
A |y L3y 2y L5 (BEE) me/L 300 53 54 51 47 54 47 51 4
REREY me/L 500 118 125 102 109 125 102 114 4
A4 REmEHES me/L 0.2 <0.02 <0.02 1
CIARIV me/L 0.00001 <0.000001 <0.000001 1
2-AFIAYRIL A F—IL me/L 0.00001 < 0.000001 <0.000001 1
A7+ REmiEER me/L 0.02 < 0.005 < 0.005 1
Jx/—ILEE me/L 0.005 < 0.0005 < 0.0005 1
HHM(2H xR (TOC)DE) me/L 3 0.2 <0.2 <0.2 0.4 0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 0.4 <0.2 <0.2 12
pH{E 5801 F86LLT 8.1 8.3 8.2 7.8 8.1 8.2 8.2 8.2 8.2 8.2 8.1 8.2 8.3 7.8 8.2 12
[ BEETHWL L L L L L L L L L L FHETL Liv v 0/12 12
5 EETHWL L L L 23 L L2 L L L 23 L L 23 L 23 L 0/12 12
BE E 5 1.0 <0.5 <0.5 2.8 0.8 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 2.8 <0.5 <0.5 12
EE E 2 0.2 <0.1 <0.1 0.8 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.8 <0.1 <0.1 12
TUOFEY me/L 0.02 <0.001 <0.001 1
oY me/L 0.002 <0.0002 <0.0002 1
% mg/L 0.02 < 0.001 < 0.001 1
K [12-2ymnzhy me/L 0.004 <0.0002 <0.0002 1
= LIV mg/L 0.4 <0.0005 <0.0005 1
- |[ZRVEBOIFILAZIIL me/L 0.08 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
g |[os/noo7e=RJL me/L 0.01 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
# [#@xo05—1 me/L 0.02 <0.002 <0.002 <0.002 <0.002 <0.002 2
B |[2XEE me/L 1
2 |EREESR me/L 01k 0.9 0.9 0.6 0.5 0.7 0.7 0.8 0.6 0.5 0.8 0.6 0.8 0.9 0.5 0.7 12
= |MERE R ER me/L 20 2.6 2.4 2.0 1.1 2.6 1.1 2.0 4
= [1Lii-byyooTiy me/L 0.3 <0.0002 <0.0002 1
B/ |AFIt-TFILI—T)L(MTBE) me/L 0.02 <0.002 <0.002 1
g R &5EE (TON) 3 <1 <1 <1 <1 <1 2
SU) TR -1~0f2 & -0.3 -0.2 -0.4 -0.5 -0.2 -0.5 -0.4 4
HEXEMAE {B/mL 2000 6 100 54 0 100 0 40 4
1,1-o900TFL> me/L 0.1 <0.0002 <0.0002 1
%Z%EM(PFOS&UPFOA) me/L 0.00005
BRIGE: mS/m 14.3 13.4 14.0 17.1 14.7 14.0 13.5 13.3 13.1 13.4 12.9 12.9 17.1 12.9 13.9 12
z |[ZILHIE me/L 56.9 58.2 57.3 55.5 58.2 55.5 57.0 4
O | BIMRIESE260nm Abs/cm 0.010 0.002 0.002 0.020 0.009 0.002 0.002 0.003 0.002 0.002 0.002 0.001 0.020 0.001 0.005 12
it |BREEAA me/L 15.2 15.5 12.8 29.2 19.9 13.5 12.6 11.9 11.8 11.5 11.1 11.6 29.2 11.1 14.7 12
o HERREE me/L 0.10 0.05 <0.02 0.33 <0.02 <0.02 0.02 <0.02 0.02 <0.02 0.03 0.02 0.33 <0.02 0.05 12
5 Ho L me/L 1.4 1.3 1.3 1.2 1.4 1.2 1.3 4
AT LIEE me/L 44 44 41 39 44 39 42 4
B | me/L 3.0 2.7 2.3 1.3 3.0 1.3 2.3 4
BB b e f mg/L 1.9 1.6 1.3 0.5 1.9 0.5 1.3 4




#akie BeE SH2EE

HKEHAHR B FE(H1Z) R2.4.9 R2.5.13 R2.6.10 R2.7.8 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3 =IE FE
HKEFFZ 9:49 10:16 9:50 9:45 9:35 9:50 9:45 9:40 9:50 9:55 9:52 9:55 12
X |4AXE & 2 & i & & £ £ £ E £ 5 12
4 |ATEXE 5 5 5 FH & 5 2 2 i 2 i £ 12
B °Cc 10.3 20.9 26.7 19.0 28.0 26.2 16.0 8.5 5.8 0.9 2.4 1.4 28.0 0.9 13.8 12
KiE °c 9.3 13.4 17.5 19.2 21.0 22.5 18.8 14.8 11.9 7.5 6.2 6.8 22.5 6.2 14.1 12
— iR {&/mL 100 LI'F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
KBE T =Y =Y fatd =Y =Y =Y =Y =Y £3ed =Y =Y ik 0/12 12
AREHLRUZDIEEY me/L 0.003 < 0.0003 < 0.0003 1
KERVZDILEY meg/L 0.0005 < 0.00005 <0.00005 1
LU RUZDIEEY me/L 0.01 <0.001 < 0.001 1
MRUZDIEEY mg/L 0.01 < 0.001 < 0.001 1
ERXRRUZDIEES me/L 0.01 < 0.001 <0.001 1
NEZOLIEEY mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
WHEREEE R me/L 0.04 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 12
STAEAA BRI TY mg/L 0.01 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
X HEEEERRUEHBEER me/L 10 1.40 0.85 0.66 0.68 0.50 0.96 1.05 1.06 1.30 1.52 1.53 1.47 1.53 0.50 1.08 12
IVvRRUVZDILEY me/L 0.8 0.18 0.19 0.20 0.21 0.20 0.23 0.22 0.21 0.20 0.18 0.16 0.17 0.23 0.16 0.20 12
e |TIRRUZDIEEY me/L 1 0.05 0.05 1
B |migftpm= mg/L 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
1.4-OF %52 me/L 0.05 < 0.001 < 0.001 < 0.001 <0.001 <0.001 <0.001 <0.001 4
£ |VARUMNYA-12-2H00TFLY mg/L 0.04 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
DYI=I=EL D me/L 0.02 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 4
# |TFrSHYO0IFLY mg/L 0.01 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
==k 10 me/L 0.01 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
m (Rt mg/L 0.01 <0.0005 <0.0005 <0.0005 <0.0005 < 0.0005 <0.0005 <0.0005 4
B me/L 0.6 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 12
~00EES mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
B |yoofLi me/L 0.06 0.001 0.002 < 0.001 <0.001 0.002 <0.001 <0.001 4
SHOOFEE mg/L 0.03 < 0.002 0.002 < 0.002 < 0.002 0.002 < 0.002 < 0.002 4
CJ0E/OOAIY me/L 0.1 0.002 0.002 0.002 0.002 0.002 0.002 0.002 4
Rk mg/L 0.01 < 0.001 < 0.001 1
BRYNOAE me/L 0.1 0.005 0.007 0.004 0.003 0.007 0.003 0.005 4
[ P=1=]:77; me/L 0.03 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
PA=E=D2I=I=P TV me/L 0.03 0.002 0.003 0.002 0.001 0.003 0.001 0.002 4
v |[ZBERILL mg/L 0.09 <0.001 <0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
RILLTILTER me/L 0.08 < 0.008 < 0.008 < 0.008 <0.008 <0.008 <0.008 <0.008 4
BIRRUVZDILEY me/L 1 < 0.005 < 0.005 1
51 | F L= LRUZDIEEY me/L 0.2 <0.02 <0.02 1
HRUZTDILEY me/L 0.3 <0.03 <0.03 1
B |[fARUVZEDIEEN me/L 1 <0.01 <0.01 1
FRIDLRUVZDIEEY mg/L 200 8.4 7.3 7.6 9.2 9.2 7.3 8.1 4
B [RUACRUZDIEEY me/L 0.05 < 0.005 < 0.005 1
BiEMAA> mg/L 200 13 7.2 7.3 6.0 3.9 6.1 6.8 6.7 7.8 9.1 11 10 13 3.9 7.9 12
A |y L3y 2y L5 (BEE) me/L 300 56 52 49 51 56 49 52 4
REREY me/L 500 94 104 98 90 104 90 97 4
A4 REmEHES me/L 0.2 <0.02 <0.02 1
CIARIV me/L 0.00001 <0.000001 <0.000001 1
2-AFIAYRIL A F—IL me/L 0.00001 < 0.000001 < 0.000001 1
A7+ REmiEER me/L 0.02 < 0.005 < 0.005 1
Jx/—ILEE me/L 0.005 < 0.0005 < 0.0005 1
HHM(2H xR (TOC)DE) me/L 3 0.5 0.6 0.3 0.4 0.9 0.3 0.3 0.3 <0.2 0.2 0.2 0.2 0.9 <0.2 0.4 12
pH{E 5801 F86LLT 7.1 7.2 7.2 7.1 7.1 7.2 7.2 7.2 7.2 7.3 7.2 7.4 7.4 7.1 7.2 12
[ BEETHWL L L L L L L L L L L FHETL Liv v 0/12 12
5 EETHWL L 23 L L 23 L L2 L L L 23 L L 23 L 23 L 0/12 12
BE E 5 <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 12
AE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12
TUOFEY me/L 0.02 <0.001 <0.001 1
oY me/L 0.002 <0.0002 <0.0002 1
% mg/L 0.02 < 0.001 < 0.001 1
K [12-2ymnzhy me/L 0.004 <0.0002 <0.0002 1
= LTI mg/L 0.4 < 0.0005 <0.0005 1
- |[ZRVEBOIFILAZIIL me/L 0.08 < 0.001 < 0.001 <0.001 <0.001 <0.001 2
g |[os/noo7e=RJL me/L 0.01 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
# [#@xo05—1 me/L 0.02 <0.002 <0.002 <0.002 <0.002 <0.002 2
B |[2XEE me/L 1
2 |EREESR me/L 01k 0.8 0.7 0.9 0.7 0.7 0.8 0.8 0.8 0.8 0.7 0.8 0.8 0.9 0.7 0.8 12
= |MERE R ER me/L 20 5.9 6.0 4.8 4.7 6.0 4.7 5.3 4
= [1Lii-byyooTiy me/L 0.3 <0.0002 <0.0002 1
B/ |AFIt-TFILI—T)L(MTBE) me/L 0.02 <0.002 <0.002 1
g R &5EE (TON) 3 <1 <1 <1 <1 <1 2
SU) TR -1~0f2 & -1.5 -1.5 -1.7 -1.6 -1.5 -1.7 -1.6 4
HEXEMAE {B/mL 2000 3 6 2 1 6 1 3 4
1,1-o900TFL> me/L 0.1 <0.0002 <0.0002 1
%Z%EM(PFOS&UPFOA) me/L 0.00005
BRIGE: mS/m 17.7 15.1 14.5 13.4 16.5 12.9 13.4 13.1 13.0 13.4 13.9 14.3 17.7 12.9 14.3 12
z |[ZILHIE me/L 41.1 39.1 33.1 33.6 41.1 33.1 36.7 4
o |ESMRZFE260nm Abs/cm 0.009 0.009 0.006 0.006 0.014 0.006 0.005 0.005 0.007 0.003 0.003 0.004 0.014 0.003 0.006 12
i |BREEAA me/L 22.2 22.8 17.1 16.7 21.0 13.1 15.6 15.6 15.1 15.7 17.0 18.5 22.8 13.1 17.5 12
o HERREE me/L 1.40 0.85 0.66 0.68 0.50 0.96 1.05 1.06 1.30 1.52 1.53 1.47 1.53 0.50 1.08 12
5 Ho L me/L 1.6 1.6 1.5 1.4 1.6 1.4 1.5 4
AT LIEE me/L 40 37 35 37 40 35 37 4
B | me/L 6.7 6.8 5.4 5.3 6.8 5.3 6.1 4
BB b e f mg/L 5.3 5.5 4.4 4.3 5.5 4.3 4.8 4




hkie B4 SHI2ERE
HKEHAHR B FE(H1Z) R2.4.9 R2.5.13 R2.6.10 R2.7.15 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3 =IE FE
HKEFFZ 9:55 9:37 9:00 9:00 9:25 9:40 9:35 9:32 9:40 9:05 9:45 9:05 12
X |4AXE & 2 & 2 & 5 £ £ £ E £ 5 12
4 |ATEXE & i 5 FH I & 2 2 i 2 i = 12
B °Cc 9.4 22.4 23.4 22.0 29.0 27.2 19.2 9.5 5.6 2.2 2.3 0.6 29.0 0.6 14.4 12
KiE °c 12.6 19.1 22.1 22.4 25.4 28.8 22.0 16.9 14.0 8.4 7.8 10.0 28.8 7.8 17.5 12
— iR {&/mL 100 LI'F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
KBE T =Y =Y fatd =Y =Y =Y =Y =Y £3ed =Y =Y ik 0/12 12
AREHLRUZDIEEY me/L 0.003 < 0.0003 < 0.0003 1
KERVZDILEY me/L 0.0005 < 0.00005 < 0.00005 1
LU RUZDIEEY me/L 0.01 <0.001 < 0.001 1
MRUZDIEEY mg/L 0.01 0.001 0.001 1
ERXRRUZDIEES me/L 0.01 < 0.001 <0.001 1
NEZOLIEEY mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
WHEREEE R me/L 0.04 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 12
STAEAA BRI TY mg/L 0.01 0.001 <0.001 < 0.001 < 0.001 0.001 < 0.001 < 0.001 4
X HEEEERRUEHBEER me/L 10 2.53 2.53 1.98 3.95 2.36 1.91 1.85 1.82 1.80 1.92 2.09 1.91 3.95 1.80 2.22 12
IVvRRUVZDILEY me/L 0.8 0.15 0.16 0.15 0.16 0.15 0.15 0.15 0.15 0.15 0.15 0.14 0.14 0.16 0.14 0.15 12
e |TIRRUZDIEEY me/L 1 0.05 0.05 1
B |migftpm= mg/L 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
1.4-OF %52 me/L 0.05 < 0.001 < 0.001 < 0.001 <0.001 <0.001 <0.001 <0.001 4
£ |VARUMNYA-12-2H00TFLY mg/L 0.04 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
DYI=I=EL D me/L 0.02 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 4
# |TFrSHYO0IFLY mg/L 0.01 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
==k 10 me/L 0.01 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
B\ |[Rvtr mg/L 0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 4
B me/L 0.6 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 12
~00EES mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
B |yoofLi me/L 0.06 0.003 0.003 0.003 0.002 0.003 0.002 0.003 4
SHOOFEE mg/L 0.03 < 0.002 0.002 < 0.002 < 0.002 0.002 < 0.002 < 0.002 4
CJ0E/OOAIY me/L 0.1 0.005 0.003 0.004 0.002 0.005 0.002 0.004 4
Rk mg/L 0.01 < 0.001 < 0.001 1
BRYNOAE me/L 0.1 0.013 0.010 0.013 0.006 0.013 0.006 0.011 4
[ P=1=]:77; me/L 0.03 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
PA=E=D2I=I=P TV me/L 0.03 0.004 0.004 0.004 0.002 0.004 0.002 0.004 4
v |[ZBERILL mg/L 0.09 0.001 <0.001 0.002 < 0.001 0.002 < 0.001 < 0.001 4
RILLTILTER me/L 0.08 < 0.008 < 0.008 < 0.008 <0.008 <0.008 <0.008 <0.008 4
BIRRUVZDILEY me/L 1 0.022 0.022 1
51 | F L= LRUZDIEEY me/L 0.2 <0.02 <0.02 1
HRUZTDILEY me/L 0.3 0.06 0.06 1
B |[fARUVZEDIEEN me/L 1 0.09 0.09 1
FRIDLRUVZDIEEY mg/L 200 42 35 40 37 42 35 39 4
B [RUACRUZDIEEY me/L 0.05 < 0.005 < 0.005 1
B4 me/L 200 64 58 55 35 40 40 49 56 55 53 51 48 64 35 50 12
A |y L3y 2y L5 (BEE) me/L 300 145 140 155 156 156 140 149 4
REREY me/L 500 312 321 311 300 321 300 311 4
A4 REmEHES me/L 0.2 <0.02 <0.02 1
CIARIV me/L 0.00001 <0.000001 <0.000001 1
2-AFIAYRIL A F—IL me/L 0.00001 < 0.000001 < 0.000001 1
A7+ REmiEER me/L 0.02 < 0.005 < 0.005 1
Jx/—ILEE me/L 0.005 < 0.0005 < 0.0005 1
HHM(2H xR (TOC)DE) me/L 3 0.6 0.6 0.6 0.6 0.6 0.6 0.7 0.7 0.6 0.6 0.6 0.6 0.7 0.6 0.6 12
pH{E 5801 F86LLT 6.6 6.8 6.7 6.7 6.7 6.8 6.6 6.7 6.7 6.6 6.6 6.7 6.8 6.6 6.7 12
[ BEETHWL L L L L L L L L L L FHETL Liv v 0/12 12
5 EETHWL L 23 L L 23 L L2 L L Bl L 23 L 23 L 23 L 0/12 12
BE E 5 <0.5 <0.5 1.1 0.8 1.1 0.8 0.9 1.4 1.4 <0.5 <0.5 <0.5 1.4 <0.5 0.6 12
AE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 0.1 <0.1 <0.1 12
TUOFEY me/L 0.02 <0.001 <0.001 1
oY me/L 0.002 <0.0002 <0.0002 1
% mg/L 0.02 0.001 0.001 1
K [12-2ymnzhy me/L 0.004 <0.0002 <0.0002 1
= LIV mg/L 0.4 <0.0005 <0.0005 1
- |[ZRVEBOIFILAZIIL me/L 0.08 < 0.001 < 0.001 <0.001 <0.001 <0.001 2
g |[os/noo7e=RJL me/L 0.01 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
# [#@xo05—1 me/L 0.02 0.003 <0.002 0.003 <0.002 <0.002 2
B |2%sE meg/L 1
2 |EREESR me/L 01k 0.8 0.6 0.7 0.7 0.5 0.5 0.4 0.4 0.5 0.9 0.9 0.7 0.9 0.4 0.6 12
= |MERE R ER me/L 20 45.5 35.5 54.8 53.2 54.8 35.5 47.2 4
= [1Lii-byyooTiy me/L 0.3 <0.0002 <0.0002 1
B/ |AFIt-TFILI—T)L(MTBE) me/L 0.02 <0.002 <0.002 1
g R &5EE (TON) 3 <1 <1 <1 <1 <1 2
SU) TR -1~0f2 & -1.2 -1.0 -1.3 -1.4 -1.0 -1.4 -1.2 4
HEXEMAE {B/mL 2000 4 76 6 4 76 4 23 4
1,1-o900TFL> me/L 0.1 <0.0002 <0.0002 1
%Z%EM(PFOS&UPFOA) me/L 0.00005
BRIGE: mS/m 49.6 47.5 48.5 41.7 40.4 43.3 46.5 48.4 48.1 49.8 47.3 46.1 49.8 40.4 46.4 12
z |[ZILHIE me/L 109 112 115 115 115 109 113 4
O | BIMRIESE260nm Abs/cm 0.010 0.011 0.016 0.012 0.015 0.014 0.014 0.019 0.017 0.010 0.007 0.010 0.019 0.007 0.013 12
it |BREEAA me/L 40.5 45.2 43.9 46.0 36.5 40.1 48.3 53.3 50.6 56.8 54.4 51.8 56.8 36.5 47.3 12
o HERREE me/L 2.53 2.53 1.98 3.95 2.36 1.91 1.85 1.82 1.80 1.92 2.09 1.91 3.95 1.80 2.22 12
5 Ho L me/L 7.8 7.4 8.8 8.1 8.8 7.4 8.0 4
AT LIEE me/L 87 84 92 95 95 84 90 4
B | me/L 51.7 40.3 62.3 60.4 62.3 40.3 53.7 4
BB b e f mg/L 34.4 26.8 39.5 38.5 39.5 26.8 34.8 4




¥HKkie B8R SH2EE
HKEHAHR B FE(H1Z) R2.4.9 R2.5.13 R2.6.10 R2.7.15 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3 =IE FE
HKEFFZ 10:12 9:52 9:18 9:24 8:55 9:20 9:15 9:08 9:10 9:20 9:21 9:25 12
X |4AXE & 2 & £ 5 5 £ £ £ E £ 5 12
4 |ATEXE & i 5 FH & & & 2 i 2 i = 12
SR °Cc 10.2 22.0 24.4 22.5 28.5 26.9 15.3 9.0 4.6 -0.2 1.1 1.3 28.5 -0.2 13.8 12
KiE °c 12.6 16.2 18.2 19.4 21.5 23.7 19.2 14.8 12.8 8.3 7.0 9.9 23.7 7.0 15.3 12
— iR {&/mL 100 LI'F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
KBE T £3ed £3ed Rex £3ed £3e8 £3ed £3ed £3ed £3ed £3ed =Y ik 0/12 12
AREHLRUZDIEEY me/L 0.003 < 0.0003 < 0.0003 1
KERVZDILEY me/L 0.0005 < 0.00005 < 0.00005 1
LU RUZDIEEY me/L 0.01 <0.001 < 0.001 1
MRUZDIEEY mg/L 0.01 < 0.001 < 0.001 1
ERXRRUZDIEES me/L 0.01 < 0.001 < 0.001 1
NEZOLIEEY mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
HIHMERESR me/L 0.04 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 12
STAEAA BRI TY mg/L 0.01 < 0.001 <0.001 < 0.001 0.002 0.002 < 0.001 < 0.001 4
X HEEEERRUEHBEER me/L 10 2.37 5.11 4.98 2.42 5.56 2.65 1.95 1.78 1.62 1.49 1.99 1.87 5.56 1.49 2.82 12
IVvRRUVZDILEY me/L 0.8 0.23 0.22 0.21 0.23 0.22 0.22 0.23 0.23 0.23 0.23 0.21 0.22 0.23 0.21 0.22 12
e |TIRRUZDIEEY me/L 1 0.05 0.05 1
B |migftpm= mg/L 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
1.4-OF %52 me/L 0.05 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
£ |VARUMNYA-12-2H00TFLY mg/L 0.04 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
DYI=I=EL D me/L 0.02 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 4
# |TFrSHYO0IFLY mg/L 0.01 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
==k 10 me/L 0.01 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
B\ |[Rvtr mg/L 0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 4
ERE me/L 0.6 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 0.06 <0.06 <0.06 <0.06 <0.06 0.06 <0.06 <0.06 12
~00EES mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
B |yoofLi me/L 0.06 < 0.001 0.003 0.002 < 0.001 0.003 < 0.001 0.001 4
SHOOFEE mg/L 0.03 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
CJ0E/OOAIY me/L 0.1 < 0.001 0.002 0.001 < 0.001 0.002 < 0.001 < 0.001 4
Rk mg/L 0.01 < 0.001 < 0.001 1
R N\OAZD me/L 0.1 < 0.001 0.007 0.005 < 0.001 0.007 < 0.001 0.003 4
[ P=1=]:77; me/L 0.03 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
PA=E=D2I=I=P TV me/L 0.03 < 0.001 0.002 0.002 < 0.001 0.002 < 0.001 0.001 4
v |[ZBERILL me/L 0.09 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
RILLTILTER me/L 0.08 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 4
BIRRUVZDILEY me/L 1 0.016 0.016 1
51 | F L= LRUZDIEEY me/L 0.2 <0.02 <0.02 1
HRUZTDILEY me/L 0.3 <0.03 <0.03 1
B |[fARUVZEDIEEN me/L 1 0.01 0.01 1
FRIDLRUVZDIEEY mg/L 200 18 17 19 18 19 17 18 4
B [RUACRUZDIEEY me/L 0.05 < 0.005 < 0.005 1
BiEMAA> mg/L 200 11 11 9.8 7.2 7.2 9.9 8.6 8.3 8.2 8.9 9.3 9.5 11 7.2 9.1 12
A |y L3y 2y L5 (BEE) me/L 300 208 203 215 189 215 189 204 4
REREY me/L 500 347 402 289 280 402 280 330 4
A4 REmEHES me/L 0.2 <0.02 <0.02 1
CIARIV me/L 0.00001 <0.000001 <0.000001 1
2-AFIAYRIL A F—IL me/L 0.00001 < 0.000001 <0.000001 1
A7+ REmiEER me/L 0.02 < 0.005 < 0.005 1
Jx/—ILEE me/L 0.005 < 0.0005 < 0.0005 1
HHM(2H xR (TOC)DE) me/L 3 0.4 0.3 0.4 0.5 0.5 0.4 0.4 0.4 0.4 0.3 0.3 0.3 0.5 0.3 0.4 12
pH{E 5801 F86LLT 6.9 7.0 7.0 7.0 7.0 6.9 7.0 7.0 7.1 6.9 6.9 6.9 7.1 6.9 7.0 12
[ BEETHWL L L L L L L L L L L FHETL Liv v 0/12 12
5 EETHWL L 23 L L 23 L L 23 L L L 23 L L 23 L 23 L 0/12 12
BE E 5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 12
EE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12
TUOFEY me/L 0.02 <0.001 <0.001 1
oY me/L 0.002 <0.0002 <0.0002 1
% mg/L 0.02 0.001 0.001 1
K [12-2ymnzhy me/L 0.004 <0.0002 <0.0002 1
= LIV mg/L 0.4 <0.0005 <0.0005 1
- |[ZRVEBOIFILAZIIL me/L 0.08 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
g |[os/noo7e=RJL me/L 0.01 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
# [#@xo05—1 me/L 0.02 <0.002 <0.002 <0.002 <0.002 <0.002 2
B |2%sE meg/L 1
2 |EREESR me/L 01k 0.8 0.8 0.8 0.5 0.5 0.5 0.6 0.5 0.7 0.6 0.6 0.8 0.8 0.5 0.6 12
= |MERE R ER me/L 20 29.0 28.4 26.0 31.2 31.2 26.0 28.7 4
= [1Lii-byyooTiy me/L 0.3 <0.0002 <0.0002 1
B/ |AFIt-TFILI—T)L(MTBE) me/L 0.02 <0.002 <0.002 1
g R &5EE (TON) 3 <1 <1 <1 <1 <1 2
SU) TR -1~0f2 & -0.8 -0.8 -0.7 -1.0 -0.7 -1.0 -0.8 4
HEXEMAE {B/mL 2000 6 2 2 0 6 0 3 4
1,1-o900TFL> me/L 0.1 <0.0002 <0.0002 1
%Z%EM(PFOS&UPFOA) me/L 0.00005
BRIGE: mS/m 42.0 45.2 44.8 44.9 40.9 42.5 42.7 43.5 43.8 43.5 43.1 40.4 45.2 40.4 43.1 12
z |[ZILHIE me/L 124 124 136 123 136 123 127 4
O | BIMRIESE260nm Abs/cm 0.006 0.006 0.007 0.005 0.006 0.006 0.005 0.006 0.005 0.006 0.005 0.003 0.007 0.003 0.006 12
it |BREEAA me/L 75.7 85.0 71.2 74.3 61.8 74.9 78.5 85.1 90.6 81.3 81.9 78.3 90.6 61.8 78.2 12
o HERREE me/L 2.37 5.11 4.98 2.42 5.56 2.65 1.95 1.78 1.62 1.49 1.95 1.87 5.56 1.49 2.81 12
5 Ho L me/L 3.2 2.9 3.2 2.8 3.2 2.8 3.0 4
AT LIEE me/L 125 123 128 114 128 114 123 4
B | me/L 33.0 32.3 29.6 35.5 35.5 29.6 32.6 4
BB b e f mg/L 20.7 20.3 17.1 22.5 22.5 17.1 20.1 4




WHkie £A SH2EE
HKEHAHR B FE(H1Z) R2.4.9 R2.5.13 R2.6.10 R2.7.15 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3 =IE FE
HKEFFZ 10:23 10:02 9:33 9:52 9:10 9:30 9:25 9:18 9:25 9:35 9:32 9:40 12
X |4AXE & 2 & 2 & 5 £ £ £ E £ 5 12
4 |ATEXE 5 5 & 5] & 5 2 2 i 2 i = 12
SR °Cc 6.5 16.9 24.8 20.2 26.1 24.7 14.4 7.6 3.2 -2.0 0.1 -1.5 26.1 -2.0 11.8 12
KiE °c 8.9 14.3 18.6 18.7 21.5 23.4 19.2 13.9 10.8 6.0 4.7 5.8 23.4 4.7 13.8 12
— iR {&/mL 100 LI'F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
KBE T £3ed £3ed Rex £3ed £3e8 £3ed £3ed £3ed £3ed £3ed =Y ik 0/12 12
AREHLRUZDIEEY me/L 0.003 < 0.0003 < 0.0003 1
KERVZDILEY me/L 0.0005 < 0.00005 < 0.00005 1
LU RUZDIEEY me/L 0.01 <0.001 < 0.001 1
MRUZDIEEY mg/L 0.01 < 0.001 < 0.001 1
ERXRRUZDIEES me/L 0.01 < 0.001 <0.001 1
NEZOLIEEY mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
HIHMERESR me/L 0.04 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 12
STAEAA BRI TY mg/L 0.01 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
X HEEEERRUEHBEER me/L 10 0.69 0.85 0.65 0.65 0.77 0.75 0.62 0.66 0.62 0.56 0.57 0.56 0.85 0.56 0.66 12
IVvRRUVZDILEY me/L 0.8 0.07 0.08 0.07 0.07 0.07 0.07 0.07 0.07 0.07 0.06 < 0.05 0.05 0.08 < 0.05 0.06 12
e |TIRRUZDIEEY me/L 1 <0.02 <0.02 1
B |migftpm= mg/L 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
1.4-OF %52 me/L 0.05 < 0.001 < 0.001 < 0.001 < 0.001 <0.001 <0.001 <0.001 4
£ |VARUMNYA-12-2H00TFLY mg/L 0.04 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
DYI=I=EL D me/L 0.02 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 4
# |TFrSHYO0IFLY mg/L 0.01 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
==k 10 me/L 0.01 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
B\ |[Rvtr mg/L 0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 4
ERE me/L 0.6 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 12
~00EES mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
B |yoofLi me/L 0.06 0.005 0.009 0.002 0.003 0.009 0.002 0.005 4
SHOOFEE mg/L 0.03 0.003 0.006 < 0.002 < 0.002 0.006 < 0.002 0.002 4
CJ0E/OOAIY me/L 0.1 < 0.001 < 0.001 < 0.001 < 0.001 <0.001 <0.001 <0.001 4
Rk mg/L 0.01 < 0.001 < 0.001 1
BRYNOAE me/L 0.1 0.007 0.012 0.004 0.005 0.012 0.004 0.007 4
[ P=1=]:77; me/L 0.03 < 0.002 0.004 < 0.002 < 0.002 0.004 < 0.002 < 0.002 4
PA=E=D2I=I=P TV me/L 0.03 0.002 0.003 0.002 0.002 0.003 0.002 0.002 4
v |[ZBERILL mg/L 0.09 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
RILLTILTER me/L 0.08 < 0.008 < 0.008 < 0.008 < 0.008 <0.008 <0.008 <0.008 4
BIRRUVZDILEY me/L 1 0.012 0.012 1
51 | F L= LRUZDIEEY me/L 0.2 <0.02 <0.02 1
HRUZTDILEY me/L 0.3 <0.03 <0.03 1
B |[fARUVZEDIEEN me/L 1 0.03 0.03 1
FRIDLRUVZDIEEY mg/L 200 4.5 4.7 4.6 4.2 4.7 4.2 4.5 4
B [RUACRUZDIEEY me/L 0.05 < 0.005 < 0.005 1
BiEMAA> mg/L 200 2.0 2.0 1.6 2.0 1.6 1.6 1.9 2.0 1.9 1.9 1.8 1.9 2.0 1.6 1.9 12
A |y L3y 2y L5 (BEE) me/L 300 105 104 107 102 107 102 105 4
REREY me/L 500 187 185 153 163 187 153 172 4
A4 REmEHES me/L 0.2 <0.02 <0.02 1
CIARIV me/L 0.00001 <0.000001 <0.000001 1
2-AFIAYRIL A F—IL me/L 0.00001 < 0.000001 < 0.000001 1
A7+ REmiEER me/L 0.02 < 0.005 < 0.005 1
Jx/—ILEE me/L 0.005 < 0.0005 < 0.0005 1
HHM(2H xR (TOC)DE) me/L 3 0.3 0.3 0.3 0.6 0.4 0.3 0.3 0.3 0.2 0.2 0.2 0.2 0.6 0.2 0.3 12
pH{E 5801 F86LLT 7.1 7.2 7.1 7.1 7.2 7.2 7.0 7.1 7.1 7.0 7.0 7.1 7.2 7.0 7.1 12
[ BEETHWL L L L L L L L L L L FHETL Liv v 0/12 12
5 EETHWL L 23 L L 23 L L 23 L L L 23 L L 23 L 23 L 0/12 12
BE E 5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 12
EE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12
TUOFEY me/L 0.02 <0.001 <0.001 1
oY me/L 0.002 <0.0002 <0.0002 1
% mg/L 0.02 0.001 0.001 1
K [12-2ymnzhy me/L 0.004 <0.0002 <0.0002 1
= LIV mg/L 0.4 <0.0005 <0.0005 1
- |[ZRVEBOIFILAZIIL me/L 0.08 < 0.001 < 0.001 <0.001 <0.001 <0.001 2
g |[os/noo7e=RJL me/L 0.01 0.001 < 0.001 0.001 < 0.001 < 0.001 2
# [#@xo05—1 me/L 0.02 0.003 <0.002 0.003 <0.002 <0.002 2
B |2%sE meg/L 1
2 |EREESR me/L 01k 0.9 0.8 0.8 0.8 0.9 0.9 0.9 0.9 0.9 0.9 0.8 0.9 0.9 0.8 0.9 12
= |MERE R ER me/L 20 8.2 6.2 8.3 8.0 8.3 6.2 7.7 4
= [1Lii-byyooTiy me/L 0.3 <0.0002 <0.0002 1
B/ |AFIt-TFILI—T)L(MTBE) me/L 0.02 <0.002 <0.002 1
g R &5EE (TON) 3 <1 <1 <1 <1 <1 2
SU) TR -1~0f2 & -1.5 -1.3 -1.5 -1.6 -1.3 -1.6 -1.5 4
HEXEMAE {B/mL 2000 0 0 0 2 2 0 1 4
1,1-o900TFL> me/L 0.1 <0.0002 <0.0002 1
%Z%EM(PFOS&UPFOA) me/L 0.00005
BRIGE: mS/m 20.1 18.4 20.9 18.5 18.8 20.2 20.0 20.3 20.2 21.2 20.1 21.2 21.2 18.4 20.0 12
z |[ZILHIE me/L 37.6 39.1 40.7 39.1 40.7 37.6 39.1 4
O | BIMRIESE260nm Abs/cm 0.005 0.005 0.006 0.010 0.006 0.006 0.005 0.006 0.004 0.003 0.004 0.004 0.010 0.003 0.005 12
it |BREEAA me/L 70.0 68.2 65.3 58.7 62.0 64.9 61.2 69.2 71.1 71.0 70.0 69.0 71.1 58.7 66.7 12
o HERREE me/L 0.69 0.85 0.65 0.65 0.77 0.75 0.62 0.66 0.62 0.56 0.57 0.56 0.85 0.56 0.66 12
5 Ho L me/L 1.1 1.0 1.1 1.0 1.1 1.0 1.1 4
AT LIEE me/L 61 60 62 60 62 60 61 4
B | me/L 9.3 7.1 9.4 9.1 9.4 7.1 8.7 4
BB b e f mg/L 7.6 5.7 7.6 7.4 7.6 5.7 7.1 4




e
#AKte LRk SHI2ERE
HKEHAHR B FE(H1Z) R2.4.9 R2.5.13 R2.6.10 R2.7.15 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3 =IE FE
HKEFFZ 10:58 10:40 10:20 10:35 10:05 8:20 10:10 10:02 10:15 10:18 10:15 10:20 12
X |4AXE & 2 & £ 5 5 £ £ £ £ £ 5 12
4 |ATEXE & & & 5] & & & & & & I £ 12
SR °Cc 8.7 18.3 25.7 20.7 27.3 21.7 15.9 6.2 3.7 -2.2 -1.4 -1.4 27.3 -2.2 11.9 12
KiE °c 9.6 14.4 17.3 18.8 20.7 22.1 18.2 14.4 11.8 7.8 7.3 7.8 22.1 7.3 14.2 12
— iR {&/mL 100 LI'F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
KBE T £3ed £3ed Rex £3ed £3e8 £3ed £3ed £3ed £3ed £3ed =Y ik 0/12 12
AREHLRUZDIEEY me/L 0.003 < 0.0003 < 0.0003 1
KERVZDILEY me/L 0.0005 < 0.00005 < 0.00005 1
LU RUZDIEEY me/L 0.01 <0.001 < 0.001 1
MRUZDIEEY mg/L 0.01 0.001 0.001 1
ERXRRUZDIEES me/L 0.01 < 0.001 < 0.001 1
NEZOLIEEY mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
HIHMERESR me/L 0.04 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 12
STAEAA BRI TY mg/L 0.01 0.002 <0.001 < 0.001 < 0.001 0.002 < 0.001 < 0.001 4
X HEEEERRUEHBEER me/L 10 0.74 0.51 0.38 0.77 0.66 0.37 0.44 0.41 0.36 0.43 0.79 0.69 0.79 0.36 0.55 12
IVvRRUVZDILEY me/L 0.8 0.12 0.13 0.13 0.13 0.12 0.14 0.14 0.14 0.14 0.14 0.12 0.11 0.14 0.11 0.13 12
e |TIRRUZDIEEY me/L 1 0.07 0.07 1
B |migftpm= mg/L 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
1.4-OF %52 me/L 0.05 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
£ |VARUMNYA-12-2H00TFLY mg/L 0.04 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
DYI=I=EL D me/L 0.02 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 4
# |TFrSHYO0IFLY mg/L 0.01 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
==k 10 me/L 0.01 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
B\ |[Rvtr mg/L 0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 4
ERE me/L 0.6 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 12
~00EES mg/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
B |yoofLi me/L 0.06 0.006 0.013 0.005 0.005 0.013 0.005 0.007 4
SHOOFEE mg/L 0.03 0.004 0.008 0.002 0.003 0.008 0.002 0.004 4
CJ0E/OOAIY me/L 0.1 0.001 0.001 0.003 < 0.001 0.003 < 0.001 0.001 4
Rk mg/L 0.01 < 0.001 < 0.001 1
R N\OAZD me/L 0.1 0.011 0.019 0.013 0.008 0.019 0.008 0.013 4
[ P=1=]:77; me/L 0.03 0.003 0.006 < 0.002 0.003 0.006 < 0.002 0.003 4
PA=E=D2I=I=P TV me/L 0.03 0.004 0.005 0.005 0.003 0.005 0.003 0.004 4
v |[ZBERILL me/L 0.09 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
RILLTILTER me/L 0.08 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 4
BIRRUVZDILEY me/L 1 < 0.005 < 0.005 1
51 | F L= LRUZDIEEY me/L 0.2 <0.02 <0.02 1
HRUZTDILEY me/L 0.3 <0.03 <0.03 1
B |[fARUVZEDIEEN me/L 1 0.02 0.02 1
FRIDLRUVZDIEEY mg/L 200 20 19 19 16 20 16 19 4
B [RUACRUZDIEEY me/L 0.05 < 0.005 < 0.005 1
B4 me/L 200 5.5 4.5 5.0 5.3 4.4 4.8 5.3 5.6 5.8 6.7 6.5 5.7 6.7 4.4 5.4 12
A |y L3y 2y L5 (BEE) me/L 300 249 245 256 190 256 190 235 4
REREY me/L 500 424 459 390 309 459 309 396 4
A4 REmEHES me/L 0.2 <0.02 <0.02 1
CIARIV me/L 0.00001 <0.000001 <0.000001 1
2-AFIAYRIL A F—IL me/L 0.00001 < 0.000001 <0.000001 1
A7+ REmiEER me/L 0.02 < 0.005 < 0.005 1
Jx/—ILEE me/L 0.005 < 0.0005 < 0.0005 1
HHM(2H xR (TOC)DE) me/L 3 1.2 0.8 0.7 1.3 1.0 0.9 1.0 1.0 0.8 1.0 1.2 1.0 1.3 0.7 1.0 12
pH{E 5801 F86LLT 7.3 7.4 7.3 7.2 7.3 7.3 7.3 7.3 7.4 7.3 7.3 7.3 7.4 7.2 7.3 12
[ BEETHWL L L L L L L L L L L FHETL Liv v 0/12 12
5 EETHWL L L L 23 L 23 L2 L L L 23 L L2 Bl L 0/12 12
BE E 5 0.9 0.6 <0.5 1.2 0.7 0.7 0.7 0.6 0.5 0.7 1.0 0.8 1.2 <0.5 0.7 12
EE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12
TUOFEY me/L 0.02 <0.001 <0.001 1
oY me/L 0.002 <0.0002 <0.0002 1
% mg/L 0.02 0.001 0.001 1
K [12-2ymnzhy me/L 0.004 <0.0002 <0.0002 1
= LIV mg/L 0.4 <0.0005 <0.0005 1
- |[ZRVEBOIFILAZIIL me/L 0.08 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
g |[os/noo7e=RJL me/L 0.01 0.001 < 0.001 0.001 < 0.001 < 0.001 2
# [#@xo05—1 me/L 0.02 0.003 <0.002 0.003 <0.002 <0.002 2
B |2%sE meg/L 1
2 |EREESR me/L 01k 0.8 0.8 0.9 0.5 0.8 0.5 0.7 0.8 0.8 0.9 0.7 0.8 0.9 0.5 0.8 12
= |MERE R ER me/L 20 12.1 11.1 9.9 8.5 12.1 8.5 10.4 4
= [1Lii-byyooTiy me/L 0.3 <0.0002 <0.0002 1
B/ |AFIt-TFILI—T)L(MTBE) me/L 0.02 <0.002 <0.002 1
g R &5EE (TON) 3 <1 <1 <1 <1 <1 2
SU) TR -1~0f2 & -0.6 -0.5 -0.5 -0.9 -0.5 -0.9 -0.7 4
HEXEMAE {B/mL 2000 0 8 5 6 8 0 5 4
1,1-o900TFL> me/L 0.1 <0.0002 <0.0002 1
%Z%EM(PFOS&UPFOA) me/L 0.00005
BRIGE: mS/m 38.1 50.0 51.3 42.5 49.6 49.9 48.0 46.9 50.9 45.3 37.9 40.9 51.3 37.9 45.9 12
z |[ZILHIE me/L 101 100 106 82.4 106 82.4 97.3 4
O | BIMRIESE260nm Abs/cm 0.022 0.014 0.013 0.025 0.019 0.016 0.019 0.018 0.014 0.018 0.017 0.018 0.025 0.013 0.018 12
it |BREEAA me/L 126 179 162 125 165 156 153 149 172 128 106 128 179 106 146 12
o HERREE me/L 0.74 0.51 0.38 0.77 0.66 0.37 0.44 0.41 0.36 0.43 0.79 0.69 0.79 0.36 0.55 12
5 Ho L me/L 1.5 1.4 1.6 1.1 1.6 1.1 1.4 4
AT LIEE me/L 130 126 131 98 131 98 121 4
B | me/L 13.8 12.6 11.3 9.7 13.8 9.7 11.9 4
BB b e f mg/L 9.0 8.1 6.8 6.7 9.0 6.7 7.6 4




hkie hE SHI2ERE
HKEHAHR B FE(H1Z) R2.4.9 R2.5.13 R2.6.10 R2.7.15 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3 =IE FE
HKEFFZ 11:18 10:55 10:50 11:27 10:20 8:30 10:25 10:20 10:30 10:50 10:41 10:50 12
X |4AXE & £ 5 £ 5 5 £ £ £ £ £ 5 12
4 |ATEXE & & & 5] & & & & & & I £ 12
SR °Cc 10.6 20.2 26.4 21.2 27.8 22.3 15.0 8.8 4.3 -0.5 0.2 0.8 27.8 -0.5 13.1 12
KiE °c 10.0 13.7 18.1 19.3 22.1 24.8 18.8 14.2 10.5 6.0 4.5 6.4 24.8 4.5 14.0 12
— iR {&/mL 100 LI'F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
KBE T £3ed £3ed Rex £3ed £3e8 £3ed £3ed £3ed £3ed £3ed =Y ik 0/12 12
AREHLRUZDIEEY me/L 0.003 < 0.0003 < 0.0003 1
KERVZDILEY me/L 0.0005 < 0.00005 < 0.00005 1
LU RUZDIEEY me/L 0.01 <0.001 < 0.001 1
MRUZDIEEY mg/L 0.01 < 0.001 < 0.001 1
ERXRRUZDIEES me/L 0.01 < 0.001 < 0.001 1
NEZOLIEEY me/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
HIHMERESR me/L 0.04 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 12
STAEAA BRI TY mg/L 0.01 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
X HEEEERRUEHBEER me/L 10 1.16 0.31 0.21 0.79 0.65 0.38 0.42 0.34 0.03 0.88 1.26 0.89 1.26 0.03 0.61 12
IVvRRUVZDILEY me/L 0.8 0.11 0.19 0.11 0.12 0.11 0.14 0.13 0.13 0.14 0.11 0.09 0.11 0.19 0.09 0.12 12
e |TIRRUZDIEEY me/L 1 0.06 0.06 1
B |migftpm= me/L 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
1.4-OF %52 me/L 0.05 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
£ |VARUMNYA-12-2H00TFLY me/L 0.04 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
DYI=I=EL D me/L 0.02 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 4
# |TFrSHYO0IFLY me/L 0.01 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
==k 10 me/L 0.01 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
B\ |[Rvtr me/L 0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 4
ERE me/L 0.6 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 12
~00EES me/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
B |yoofLi me/L 0.06 0.038 0.031 0.025 0.011 0.038 0.011 0.026 4
SHOOERE me/L 0.03 0.022 0.019 0.012 0.007 0.022 0.007 0.015 4
CJ0E/OOAIY me/L 0.1 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
Rk mg/L 0.01 < 0.001 < 0.001 1
R N\OAZD me/L 0.1 0.043 0.036 0.029 0.014 0.043 0.014 0.031 4
[ P=1=]:77; me/L 0.03 0.027 0.018 0.015 0.007 0.027 0.007 0.017 4
PA=E=D2I=I=P TV me/L 0.03 0.005 0.005 0.004 0.003 0.005 0.003 0.004 4
v |[ZBERILL me/L 0.09 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
RILLTILTER me/L 0.08 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 4
BIRRUVZDILEY me/L 1 0.008 0.008 1
51 | F L= LRUZDIEEY me/L 0.2 0.02 <0.02 <0.02 0.05 0.05 <0.02 <0.02 4
HRUZTDILEY me/L 0.3 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 4
B |[fARUVZEDIEEN me/L 1 <0.01 <0.01 1
FRIDLRUVZDIEEY meg/L 200 17 15 17 12 17 12 15 4
B [RUACRUZDIEEY me/L 0.05 < 0.005 < 0.005 1
B4 me/L 200 4.3 4.5 10 4.5 4.7 4.8 4.6 4.8 4.9 5.2 4.4 4.5 10 4.3 5.1 12
A |y L3y 2y L5 (BEE) me/L 300 110 107 110 95 110 95 106 4
REREY me/L 500 173 176 166 150 176 150 166 4
A4 REmEHES me/L 0.2 <0.02 <0.02 1
CIARIV me/L 0.00001 <0.000001 <0.000001 1
2-AFIAYRIL A F—IL me/L 0.00001 < 0.000001 <0.000001 1
A7+ REmiEER me/L 0.02 < 0.005 < 0.005 1
Jz/—I)LE me/L 0.005 < 0.0005 < 0.0005 1
HHM(2H xR (TOC)DE) me/L 3 0.9 1.0 1.3 1.3 1.0 1.1 1.0 0.9 1.3 1.1 1.0 0.9 1.3 0.9 1.1 12
pH{E 5801 F86LLT 7.4 7.9 7.9 7.4 7.7 7.8 7.6 7.8 8.0 7.6 7.4 7.6 8.0 7.4 7.7 12
[ BEETHWL L L L L L L L L L L FHETL Liv v 0/12 12
5 EETHWL L 23 L L L L2 L L L 23 L 23 L2 L 23 L 0/12 12
BE E 5 <0.5 0.6 0.5 2.0 0.6 0.7 0.5 0.6 1.0 0.6 0.9 0.5 2.0 <0.5 0.7 12
EE E 2 <0.1 <0.1 <0.1 0.5 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.5 <0.1 <0.1 12
TUOFEY me/L 0.02 <0.001 <0.001 1
oY me/L 0.002 <0.0002 <0.0002 1
% me/L 0.02 < 0.001 < 0.001 1
K [12-2ymnzhy me/L 0.004 <0.0002 <0.0002 1
= LIV mg/L 0.4 <0.0005 <0.0005 1
- |[ZRVEBOIFILAZIIL me/L 0.08 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
g |[os/noo7e=RJL me/L 0.01 0.004 0.002 0.004 0.002 0.003 2
# [#@xo05—1 me/L 0.02 0.027 0.005 0.027 0.005 0.016 2
B |[2XEE me/L 1
2 |EREESR me/L 01k 0.8 0.6 0.7 0.7 0.8 0.7 0.5 0.5 0.6 0.9 0.6 0.8 0.9 0.5 0.7 12
= |MERE R ER me/L 20 4.2 4.7 3.5 5.1 5.1 3.5 4.4 4
= [1Lii-byyooTiy me/L 0.3 <0.0002 <0.0002 1
B/ |AFIt-TFILI—T)L(MTBE) me/L 0.02 <0.002 <0.002 1
g R &5EE (TON) 3 <1 <1 <1 <1 <1 2
SU) TR -1~0f2 & -0.2 -0.3 -0.2 -0.9 -0.2 -0.9 -0.4 4
HEXEMAE {B/mL 2000 12 30 140 94 140 12 69 4
1,1-o900TFL> me/L 0.1 <0.0002 <0.0002 1
%Z%EM(PFOS&UPFOA) me/L 0.00005
BRIGE: mS/m 21.3 20.6 27.7 17.5 18.5 26.5 24.1 24.9 24.4 29.4 21.3 21.6 29.4 17.5 23.2 12
z |[ZILHIE me/L 112 111 116 84.1 116 84.1 106 4
O | BIMRIESE260nm Abs/cm 0.014 0.017 0.019 0.026 0.015 0.017 0.016 0.015 0.025 0.018 0.013 0.015 0.026 0.013 0.018 12
it |BREEAA me/L 30.1 33.8 24.8 26.7 24.3 22.7 25.2 23.1 25.4 27.5 27.8 29.2 33.8 22.7 26.7 12
o HERREE me/L 1.16 0.31 0.21 0.79 0.65 0.38 0.42 0.34 0.03 0.88 1.26 0.89 1.26 0.03 0.61 12
5 Ho L me/L 1.4 1.4 1.4 1.2 1.4 1.2 1.4 4
AT LIEE me/L 56 54 55 47 56 47 53 4
B | me/L 4.8 5.3 4.0 5.8 5.8 4.0 5.0 4
BB b e f mg/L 1.4 1.9 0.6 3.5 3.5 0.6 1.8 4




#AKkte g SHI2ERE
HKEHAHR B FE(H1Z) R2.4.9 R2.5.13 R2.6.10 R2.7.15 R2.8.5 R2.9.9 R2.10.7 R2.11.4 R2.12.2 R3.1.6 R3.2.3 R3.3.3 =IE FE
HKEFFZ 10:02 9:45 9:10 9:07 8:45 9:10 9:05 8:58 9:00 9:12 9:13 9:15 12
X |4AXE & £ 5 £ 5 5 £ £ £ £ £ 5 12
4 |ATEXE & i 5 5] & & & 2 i 2 i = 12
SR °Cc 8.4 21.3 24.6 21.0 27.1 26.4 14.3 7.8 5.2 0.2 1.0 0.8 27.1 0.2 13.2 12
KiE °c 9.2 15.2 20.6 20.4 22.8 24.3 18.7 13.8 9.8 5.6 5.2 5.6 24.3 5.2 14.3 12
— iR {&/mL 100 LI'F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
KBE T £3ed £3ed Rex £3ed £3e8 £3ed £3ed £3ed £3ed £3ed =Y ik 0/12 12
AREHLRUZDIEEY me/L 0.003 < 0.0003 < 0.0003 1
KERVZDILEY me/L 0.0005 < 0.00005 < 0.00005 1
LU RUZDIEEY me/L 0.01 <0.001 < 0.001 1
MRUZDIEEY mg/L 0.01 < 0.001 < 0.001 1
ERXRRUZDIEES me/L 0.01 < 0.001 < 0.001 1
NEZOLIEEY me/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
HIHMERESR me/L 0.04 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 < 0.004 <0.004 12
STAEAA BRI TY mg/L 0.01 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
X HEEEERRUEHBEER me/L 10 0.67 0.57 0.43 0.43 0.32 0.94 1.01 0.94 1.06 1.09 1.24 1.25 1.25 0.32 0.83 12
IVvRRUVZDILEY me/L 0.8 0.18 0.21 0.20 < 0.05 0.16 0.18 0.17 0.17 0.17 0.16 0.14 0.14 0.21 < 0.05 0.16 12
e |TIRRUZDIEEY me/L 1 0.06 0.06 1
B |migftpm= me/L 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
1.4-OF %52 me/L 0.05 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
£ |VARUMNYA-12-2H00TFLY me/L 0.04 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
DYI=I=EL D me/L 0.02 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 4
# |TFrSHYO0IFLY me/L 0.01 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
==k 10 me/L 0.01 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 4
B\ |[Rvtr me/L 0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 4
ERE me/L 0.6 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 12
~00EES me/L 0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
B |yoofLi me/L 0.06 0.004 0.007 0.002 0.001 0.007 0.001 0.004 4
SHOOERE me/L 0.03 < 0.002 0.004 < 0.002 < 0.002 0.004 < 0.002 < 0.002 4
CJ0E/OOAIY me/L 0.1 0.002 0.002 0.002 0.002 0.002 0.002 0.002 4
Rk mg/L 0.01 < 0.001 < 0.001 1
R N\OAZD me/L 0.1 0.010 0.014 0.006 0.005 0.014 0.005 0.009 4
[ P=1=]:77; me/L 0.03 < 0.002 0.002 < 0.002 < 0.002 0.002 < 0.002 < 0.002 4
PA=E=D2I=I=P TV me/L 0.03 0.004 0.005 0.002 0.002 0.005 0.002 0.003 4
v |[ZBERILL me/L 0.09 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 4
RILLTILTER me/L 0.08 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 4
BIRRUVZDILEY me/L 1 0.029 0.029 1
51 | F L= LRUZDIEEY me/L 0.2 <0.02 <0.02 1
HRUZTDILEY me/L 0.3 <0.03 <0.03 1
B |[fARUVZEDIEEN me/L 1 <0.01 <0.01 1
FRIDLRUVZDIEEY mg/L 200 11 7.2 11 16 16 7.2 11 4
B [RUACRUZDIEEY me/L 0.05 < 0.005 < 0.005 1
B4 me/L 200 12 10 12 3.8 3.5 6.5 8.5 7.6 9.8 11 14 25 25 3.5 10 12
A |y L3y 2y L5 (BEE) me/L 300 71 55 75 115 115 55 79 4
REREY me/L 500 127 110 114 203 203 110 139 4
A4 REmEHES me/L 0.2 <0.02 <0.02 1
CIARIV me/L 0.00001 <0.000001 <0.000001 1
2-AFIAYRIL A F—IL me/L 0.00001 < 0.000001 <0.000001 1
A7+ REmiEER me/L 0.02 < 0.005 < 0.005 1
Jz/—I)LE me/L 0.005 < 0.0005 < 0.0005 1
HHM(2H xR (TOC)DE) me/L 3 0.5 0.4 0.4 <0.2 <0.2 0.4 0.4 0.4 0.3 0.3 0.3 0.3 0.5 <0.2 0.3 12
pH{E 5801 F86LLT 7.3 7.4 7.3 7.6 7.5 7.5 7.3 7.4 7.3 7.3 7.2 7.2 7.6 7.2 7.4 12
[ BEETHWL L L L L L L L L L L FHETL Liv v 0/12 12
5 EETHWL L 23 L L 23 L L2 L L L 23 L L 23 L 23 L 0/12 12
BE E 5 <0.5 <0.5 <0.5 <0.5 0.5 0.6 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 0.6 <0.5 <0.5 12
EE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1 12
TUOFEY me/L 0.02 <0.001 <0.001 1
oY me/L 0.002 <0.0002 <0.0002 1
% me/L 0.02 < 0.001 < 0.001 1
K [12-2ymnzhy me/L 0.004 <0.0002 <0.0002 1
= LIV mg/L 0.4 <0.0005 <0.0005 1
- |[ZRVEBOIFILAZIIL me/L 0.08 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
g |[os/noo7e=RJL me/L 0.01 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 2
# [#@xo05—1 me/L 0.02 0.003 <0.002 0.003 <0.002 <0.002 2
B |2%sE meg/L 1
2 |EREESR me/L 01k 0.4 0.7 0.6 0.6 0.6 0.4 0.6 0.5 0.7 0.7 0.8 0.8 0.8 0.4 0.6 12
= |MERE R ER me/L 20 7.0 4.3 6.4 8.5 8.5 4.3 6.6 4
= [1Lii-byyooTiy me/L 0.3 <0.0002 <0.0002 1
B/ |AFIt-TFILI—T)L(MTBE) me/L 0.02 <0.002 <0.002 1
g R &5EE (TON) 3 <1 <1 <1 <1 <1 2
SU) TR -1~0f2 & -1.1 -1.1 -1.3 -1.2 -1.1 -1.3 -1.2 4
HEXEMAE {B/mL 2000 2 6 0 0 6 0 2 4
1,1-o900TFL> me/L 0.1 <0.0002 <0.0002 1
%Z%EM(PFOS&UPFOA) me/L 0.00005
BRIGE: mS/m 19.4 15.9 18.2 9.70 8.90 13.8 17.9 16.5 18.5 20.8 21.2 29.7 29.7 8.90 17.5 12
z |[ZILHIE me/L 56.2 42.3 57.2 61.8 61.8 42.3 54.4 4
O | BIMRIESE260nm Abs/cm 0.008 0.008 0.009 0.001 0.002 0.010 0.006 0.006 0.006 0.004 0.006 0.005 0.010 0.001 0.006 12
it |BREEAA me/L 24.3 21.2 19.8 5.50 2.80 14.2 25.4 21.8 24.1 27.2 35.0 46.3 46.3 2.80 22.3 12
o HERREE me/L 0.67 0.57 0.43 0.43 0.32 0.94 1.01 0.94 1.06 1.09 1.24 1.25 1.25 0.32 0.83 12
5 Ho L me/L 2.1 1.8 1.9 2.1 2.1 1.8 2.0 4
AT LIEE me/L 51 41 53 80 80 41 56 4
B | me/L 8.0 4.9 7.3 9.7 9.7 4.9 7.5 4
BB b e f mg/L 6.1 3.8 5.5 7.4 7.4 3.8 5.7 4




